


Parts No. Name of Parts Ref.No.Page Parts No. Name of Parts Ref.No.Page Parts No. Name of Parts Ref.No.Page

IINNDDEEXX

44-0000-1230
44-0000-1230
44-0000-1230
44-0000-1230
44-0000-1230
44-0000-1230
44-0000-1230
44-0000-1230
44-0000-1230
44-002C-3400
44-003M-3400
44-004A-3400
44-005C-3400
44-006C-3400
44-007C-3400
44-008A-3400
44-009M-3400
44-011C-3400
44-011C-7400
44-012C-1230
44-012C-1230
44-012C-1230
44-012C-1230
44-012C-1230
44-012C-1230
44-012C-3400
44-012R-7400
44-013C-3400
44-015C-3400
44-015C-3400
44-017M-3400
44-017M-3400
44-018M-3400
44-019M-3400
44-020C-3400
44-021S-3400
44-022G-3400
44-023M-3400
44-025A-1230
44-026G-7400
44-026G-7400
44-026G-7400
44-026P-3400
44-101A-3400
44-110A-3400
44-111C-7400
44-114C-3400
44-116A-3400
44-124C-3400
44-124C-3400
60-101A-3400
91-001C-1230
91-002C-7400
91-002R-3710
91-002S-3400
91-003R-3710
91-007A-2302
91-008C-1230
91-011C-1230
91-012C-1230
91-102C-1230

Oil Wick
Oil Wick
Oil Wick
Oil Wick
Oil Wick
Oil Wick
Oil Wick
Oil Wick
Oil Wick
Packing For F-1
Oil Felt For Thread Take-Up Lever
Oil Tank(Ass'y)
Oil Tank Packing
Oil Tank Pushing Plate(Ass'y)
Oil Pipe For F-5
Upper Thread Oil Felt Holder
Upper Thread Oil Felt
Oil Pipe(Large) For Thread Take-Up Lever
Oil Wick Pipe Holder For B-12
Oil Pipe For D-67
Oil Wick Pipe For B-9
Oil Pipe For B-12
Oil Wick Pipe For B-15
Oil Wick Pipe For D-3
Oil Wick Pipe For D-7
Oil Pipe(Middle) For Thread Take-Up Lever
Rubber Cap For Oil Tank
Oil Pipe(Small) For Thread Take-Up Lever
Oil Felt Holder For C-3
Holder For D-4
Oil Felt For B-12
Oil Felt For B-15
Oil Felt For D-3
Oil Felt For B-36
Oil Felt Holder For B-36
Oil Adjusting Screw For B-36
Spring For B-44
Oil Felt For C-3
Collar For Lower Shaft
Oil Wick Pipe Holder For B-9
Oil Wick Pipe Holder(B) For D-3
Oil Wick Pipe Holder For D-7
Oil Felt Pipe For B-36
Oil Tank Cover For Thread Take-Up Lever
Oil Wick Holder For Feed Link
Oil Wick Pipe Holder(A) For D-3
Oil Wick Holder For D-67
Oil Pan
Oil Wick Holder For C-3
Oil Wick Holder For D-3
Belt Cover Ass'y
Accessory Bag
Oil Receiver
Bed Support Rubber(B)
Screw For G-21
Bed Support Rubber(A)
Thread Stand(Ass'y)
Oil Can
Oiler
Head Rest
Driver(Large)

15
17
17
17
17
17
17
17
17
17
17
17
17
17
17
7
7
17
17
17
17
17
17
17
17
17
17
17
13
13
9
9
13
9
9
9
9
13
9
17
17
17
9
17
17
17
17
19
17
17
19
19
19
19
19
19
19
19
19
19
19

C-68
F-15
F-21
F-24
F-27
F-31
F-33
F-40
F-44
F-3
F-4
F-5
F-8
F-9
F-9-1
A-22
A-24
F-12
F-29
F-16
F-22
F-28
F-32
F-35
F-41
F-13
F-20
F-14
C-5
D-5
B-14
B-17
D-4
B-40
B-42
B-44
B-45
C-4
B-52
F-23
F-38
F-42
B-41
F-1
F-10
F-36
F-17
G-22
F-25
F-34
G-25
G-1
G-13
G-15
G-23
G-14
G-19
G-24
G-12
G-18
G-3

91-103C-1230
91-104C-1230
91-106C-2700
GP-009175-00
GP-021885-00
GP-029564-00
GP-029566-00
GP-030852-00
GP-031765-01
GP-034051-00
SC-000568-00
SC-000568-00
SC-0109-2350
SC-0109-2350
SC-0113-3400
SC-0114-1230
SC-0114-1230
SC-0114-1230
SC-0114-1230
SC-0114-1230
SC-0114-1230
SC-0114-1230
SC-0114-1230
SC-0116-3400
SC-0120-1230
SC-0120-2118
SC-0122-1230
SC-0122-1230
SC-0122-1230
SC-0123-1230
SC-0124-7400
SC-0125-5607
SC-0128-7400
SC-0128-7400
SC-0130-1230
SC-0140-5607
SC-0150-2500
SC-0160-5607
SC-0173-1230
SC-0174-4122
SC-0174-4122
SC-0175-1230
SC-0175-1230
SC-0175-1230
SC-0175-1230
SC-0178-7400
SC-0179-3710
SC-0179-3710
SC-0183-2700
SC-0184-1600
SC-0185-1230
SC-0186-1230
SC-0188-1230
SC-0193-1230
SC-0203-5607
SC-0204-1230
SC-0205-3710
SC-0205-3710
SC-0253-7400
SC-0315-2302
SC-0330-7400

Driver(Middle, Small)
Attachment(Steel)
Head Cover
Model Mark(KM-590BL)
Bobbin Case(Ass'y)
Knee Lifting Lever
Stud Screw(Front) For C-41
Upper Shaft
Belt Cover
Oil Cap(Small) For B-36
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw(M6)
Screw(M6)
Screw(11/64″n=40)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Nut(1/4″n=40)
Screw(9/64″n=40)
Screw(9/64″n=40)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(9/32″n=28)
Screw(9/32″n=28)
Screw(3/32″n=56)
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw(1/8″n=44)
Screw(1/4″n=24)
Screw(15/64″n=28)
Screw(9/64″n=40)
Screw(3/16″n=28)
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw For B-42
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw(15/64″n=28)
Screw(3/16″n=28)
Screw(3/16″n=32)
Screw(3/16″n=32)
Screw(5/16″n=24)
Screw(3/16″n=28)
Screw(5/16″n=28)
Screw(9/64″n=40)
Screw(9/16″n=20)
Screw(9/16″n=20)
Screw(1/4″n=24)
Screw(9/64″n=40)
Screw(15/64″n=28)

19
19
19
7
9
15
11
9
19
9
7
7
17
17
15
9
9
9
13
11
11
15
13
13
7
7
11
13
13
9
9
11
9
13
13
13
9
11
13
9
7
7
9
13
13
15
15
17
13
13
13
13
9
13
9
19
17
17
13
15
13

G-4
G-6
G-2
A-27
B-58
E-21
C-42
B-4
G-26
B-39
A-14
A-16
F-46
F-49
E-3
B-27
B-30
B-48
C-14
C-49
C-51
C-67
D-33
C-17
A-23
A-7
C-63
D-10
D-30
B-6
B-7
C-54
C-22
D-45
D-54
C-7
B-19
C-56
D-26
C-24
C-70
A-10
B-43
D-42
D-64
E-15
E-29
F-6
D-19
D-63
D-60
D-59
B-20
D-14
C-29
G-7
F-47
F-50
D-28
E-8
D-9

SC-0360-3400
SC-0365-3710
SC-0365-3710
SC-0367-3400
SC-0497-1230
SC-0497-1230
SC-0498-3710
SC-0498-3710
SC-0498-3710
SC-0499-1230
SC-0499-1230
SC-0502-2302
SC-0502-2302
SC-0504-4515
SC-0507-1230
SC-0507-1230
SC-0507-1230
SC-0507-1230
SC-0507-1230
SC-0507-1230
SC-0507-1230
SC-0507-1230
SC-0509-1230
SC-0509-1230
SC-0512-1230
SC-0531-2302
SC-0531-2302
SC-0531-2302
SC-0531-2302
SC-0543-2302
SC-0543-2302
SC-A129-4515
SC-A129-4515
SC-A129-4515
SC-A129-4515
SC-A129-4515
SC-A129-4515
SC-A129-4515
SC-A129-4515
SC-A129-4515
SC-A174-4122
SN-0100-4000
SN-0105-4000
SN-0107-1230
SN-0107-1230
SN-0107-1230
SN-0107-4000
SN-0116-3400
SN-0116-3400

Screw(3/8″n=28)
Screw(9/64″n=40)
Screw(9/64″n=40)
Screw(9/16″n=20)
Screw(3/16″n=28)
Screw(3/16″n=28)
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw(9/64″n=40)
Screw(9/64″n=40)
Screw(1/4″n=40)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(15/64″n=28)
Screw(11/64″n=40)
Screw(9/64″n=40)
Screw(9/64″n=40)
Screw(9/64″n=40)
Screw(9/64″n=40)
Screw(11/64″n=40)
Screw(11/64″n=40)
Screw(1/4″n=40)
Screw(1/4″n=40)
Screw(1/4″n=40)
Screw(1/4″n=40)
Screw(1/4″n=40)
Screw(1/4″n=40)
Screw(1/4″n=40)
Screw(1/4″n=40)
Screw(1/4″n=40)
Screw(11/64″n=40)
Nut(9/16″n=20)
Nut(15/64″n=28)
Nut(9/32″n=28)
Nut(9/32″n=28)
Nut(9/32″n=28)
Nut(9/32″n=28)
Nut(3/16″n=32)
Nut(1/4″n=40)
Needle
Needle
Nail

13
7
17
15
13
13
7
7
7
7
15
17
17
9
9
9
9
9
9
13
13
13
7
13
9
17
17
17
17
15
17
9
9
9
9
9
13
11
13
15
9
15
15
11
13
13
11
13
11
11
19
19

D-50
A-12
F-18
E-4
D-24
D-49
A-3
A-3-1
A-5
A-19
E-19
F-39
F-43
B-22
B-2
B-10
B-13
B-16
B-37
D-21
D-35
D-37
A-34
D-2
B-53
F-11
F-26
F-30
F-37
E-36
F-2
B-8
B-24
B-32
B-34
B-51
C-2
C-46
D-56
E-10
B-56
E-5
C-44
C-61
D-66
D-68
C-40
C-11
C-31
C-55
G-8
G-11

21




